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DK S-8 do dzia³ki ew. nr 10/1 po³o¿onej w m. Mostówka

Budowa drogi powiatowej Nr 4421W od wêz³a „Mostówka” na 
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 Elementy trasy w planie 
L = 146.67 m

Ł = 13.23 m
R = 250.00 m

L = 113.85 m

Ł = 16.47 m
R = -300.00 m

L = 356.70 m L = 200.41 m L = 259.94 m
Ł = 43.31 m

R = 250.00 m

L = 91.89 m L = 173.46 m L = 112.28 m

 Pikietaż 

0
+
0
0
0
.0

0

0
+
0
0
0
.1

5

0
+
0
0
8
.0

0

0
+
0
2
0
.0

0

0
+
0
4
0
.0

0

0
+
0
6
0
.0

0

0
+
0
6
9
.8

0

0
+
0
7
1
.5

3

0
+
0
8
0
.0

0

0
+
1
0
0
.0

0

0
+
1
0
3
.8

3

0
+
1
1
8
.0

6

0
+
1
2
0
.0

0

0
+
1
4
0
.0

0

0
+
1
6
0
.0

0

0
+
1
8
0
.0

0

0
+
1
8
6
.0

2

0
+
1
9
5
.5

1

0
+
2
0
0
.0

0

0
+
2
2
0
.0

0

0
+
2
4
0
.0

0

0
+
2
6
0
.0

0

0
+
2
8
0
.0

0

0
+
3
0
0
.0

0

0
+
3
2
0
.0

0

0
+
3
4
0
.0

0

0
+
3
6
0
.0

0

0
+
3
8
0
.0

0

0
+
4
0
0
.0

0

0
+
4
2
0
.0

0

0
+
4
4
0
.0

0

0
+
4
6
0
.0

0

0
+
4
8
0
.0

0

0
+
5
0
0
.0

0

0
+
5
0
0
.4

5

0
+
5
2
0
.0

0

0
+
5
2
3
.3

3

0
+
5
4
0
.0

0

0
+
5
6
0
.0

0

0
+
5
8
0
.0

0

0
+
6
0
0
.0

0

0
+
6
0
5
.9

6

0
+
6
2
0
.0

0
0
+
6
2
2
.1

3

0
+
6
4
0
.0

0

0
+
6
6
0
.0

0

0
+
6
8
0
.0

0

0
+
7
0
0
.0

0

0
+
7
2
0
.0

0

0
+
7
4
0
.0

0

0
+
7
6
0
.0

0

0
+
7
6
4
.4

4

0
+
7
8
0
.0

0

0
+
7
9
2
.3

6

0
+
8
0
0
.0

0

0
+
8
2
0
.0

0

0
+
8
4
0
.0

0

0
+
8
6
0
.0

0

0
+
8
8
0
.0

0

0
+
9
0
0
.0

0

0
+
9
0
2
.8

3

0
+
9
2
0
.0

0

0
+
9
3
0
.9

2

0
+
9
4
0
.0

0

0
+
9
6
0
.0

0

0
+
9
8
0
.0

0

1
+
0
0
0
.0

0

1
+
0
2
0
.0

0

1
+
0
4
0
.0

0

1
+
0
6
0
.0

0

1
+
0
8
0
.0

0

1
+
1
0
0
.0

0

1
+
1
2
0
.0

0

1
+
1
3
6
.2

0

1
+
1
4
0
.0

0

1
+
1
5
3
.2

7

1
+
1
6
0
.0

0

1
+
1
8
0
.0

0

1
+
2
0
0
.0

0

1
+
2
2
0
.0

0

1
+
2
3
6
.3

5

1
+
2
4
0
.0

0

1
+
2
5
2
.5

8

1
+
2
6
0
.0

0

1
+
2
8
0
.0

0

1
+
2
8
3
.8

6

1
+
3
0
0
.0

0

1
+
3
0
4
.1

3

1
+
3
2
0
.0

0

1
+
3
4
0
.0

0

1
+
3
6
0
.0

0

1
+
3
8
0
.0

0

1
+
3
8
1
.0

3

1
+
3
9
5
.3

3

1
+
4
0
0
.0

0

1
+
4
2
0
.0

0

1
+
4
3
7
.8

6
1
+
4
4
0
.0

0

1
+
4
5
1
.7

3

1
+
4
6
0
.0

0

1
+
4
7
7
.3

2
1
+
4
8
0
.0

0

1
+
4
8
5
.0

9

1
+
5
0
0
.0

0

1
+
5
2
0
.0

0

1
+
5
2
8
.2

2

1
+
5
4
0
.0

0

1
+
5
6
0
.0

0

1
+
5
8
0
.0

0

1
+
6
0
0
.0

0

4

Profil podłużny

1:100/1000


